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1 | Console. WriteLine ("{O} plus {1} is equal to {2}
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wv | Console. Writeline ("Average = {0,10}" ,

average);
Console. Writeline ("Average = {0,10:F}",
average);
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number = float. parse (in put);

number=float. ars( )
Vo it ( (number <10)) it ( (number <10))
Pl int X; int x;
String str;
str = Console.ReadlLine();
if (int. Tryparse (str, out x)) If (int. Try~arse (str,out X))
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Console.writeline
Al a0 bawy Console.ReadLine
Int age =int.Parse(console.Readline) SUCEL) T LENT
Aw | Leader,Co-Leader,Elder,Member Co_leader
NUEENTE
AW (“Enter Player coins:”); (“Enter Player coins:");
NUTAI LTIV P
AW player = PlayerRank. Co-Leader; player = PlayerRank. Co_Leader;
Ao | Console. WriteLine (“Using colors in console mode.”);
("Using colors in console mode.")
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JolC Console.Write(“enter the {O0}th number: ”, i+1); Console.Write("enter the {0}th number:
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min);
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